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1 a W1t11 a neat d1ég1_aIﬁ explalx{ precmon type vanable"”9 12 COZW

k| attenuator.
gﬁ‘ j) What is maglc Tee? Deuve 115 S man ix. 9 |L3| CO2
¥ ¢ [Which are the losses in mlcrostnp lme bxplam dleleclrlc 7 L2 CO2
losses. | .
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2la What is rcmplocal dewce? erte four point companson 9 \LZ COZ
anpqng [S] [Y], [Z] matrices.

f

' b [Two transmission lines of characteristic 1mpedance Zl 9 L3 COQ

and Z, joined at PP. Express S matrix interms of
$1mpedance when each line is matched terminated.
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e lExplam coplanar strip lines and shlclded ‘:trlp lme T 1E2 CO~2‘
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\ 3
Which are the different losqes mterme ot S parameter mm 9 L2. COZ

rmcrowave network

Explam the different types of coax1al connectors mw9 L2 C02
microwave c1rcu1ts
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C ln a H plane T umctlon compute the power delivered to] 7 |L3| CO2
the loads of 40 ohm and 60 ohm connected to arm 1 and
2 when a 10mW power is delivered to the matched port
3. assume eharactel lSthS 1mpedance of line is 50 ohm.
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,14!, a !DesL ribe ohmlc losses zmd rad1at10n losses in micro strip| 9 |L2| CO2
¢ lmes
| [b ‘Wlth a neat d1ag1 am explam rotary precision phase 9 L2} CO3
shlﬂer '

xA shlelded stnp hne has the following parameters 7 (13 €.

dielectric constant of the insulator €1=2.56
‘strlp width: w= 25 mils
B str1p thickness: t=14 mils |
B 1shleld depth: d=70 mils j
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